


TABLE 4
Wage (OLS) and Benefit (Probit) Equations (2)

Number of Observations in All Equations: 33,810
Standard Errors in Parentheses

Wage Pension Health

Pr(TNS)*Constant 31.837 -2.324 -4.096
: (3.651) (0.824) (0.864)

Pr(TNS)*Experience -0.799 0.186 0.401
(0.316) (0.071) (0.075)

Pr(TNS)*Experience Squared 0.014 -0.002 -0.007.
(0.008) .. - (0.002) (0.002)

Pr(TNS)*Tenure 2.088 i 0.123 -0.135
(0.554) (0.127) (0.134)

Pr(TNS)*Tenure Squared -0.049 -0.003 0.003
, (0.014) (0.003) (0.003)

Hospitals . 0.033 -0.007 -0.007
(0.012) (0.012) (0.012)

Hospital Beds (000’s) 0.070 0.100 0.100
(0.010) (0.030) (0.030)
Parking Tuition Daycare

Pr(TNS)*Constant -0.475 - -3.289 -0.419
/ (0.774) (0.798) (1.242)

Pr(TNS)*Experience 0.038 0.261 0.114
(0.067) ' (0.069) (0.110)

Pr(TNS)*Experience Squared 0.001 -0.003 -0.001
(0.002) (0.002) (0.003)

Pr(TNS)*Tenure 0.055 -0.325 -0.158
(0.118) (0.123) (0.194)

Pr(TNS)*Tenure Squared -0.003 0.004 0.002
‘ (0.003) (0.003) (0.005)

Hospitals -0.028 -0.049 -0.015
7 (0.021) (0.041) (0.017)

Hospital Beds (000’s) 0.040 0.300 1.120

(0.030) (0.030) (0.040)



TABLE §
- Comparison of the
Wage Coefficient - Benefit Coefficient Ratios,
For Agency and Regular Employer,
For Each of the Five Benefits

Regular % Agency >
Ratio Agency Employer Regular Employer
Wage-Pension 0.0401 0.0199 102%
Wage-Parking 0.9815 0.0912 ' 976%
Wage-Health Insurance 0.0402 0.0437 -8%
Wage-Tuition 0.1069 0.1124 -5%

Wage-Daycare 0.0184 0.0193 5%



Constant
White
Female
Age

Age
Squared
Experience
Experience
Squared
Tenure
Tenure
Squared
Associate
Bachelor
Masters

Use Skill

Population
Density

~ Soc Sec
Density

APPENDIX A: RESULTS OF EQUATIONS (2) AND (3)

TABLE Al

Wage (OLS) émd Benefit (Probit) Equations (2)

Wage
7.393
(0.622)

1.572
(0.283)

1.259
(0.217)

-0.017
(0.024)

-0.0002
(0.0003)

0.1015
(0.024)

-0.0013
(0.0006)

0.313
(0.028)

-0.006
(0.001)

0.292
(0.097)

1.212
(0.091)

3.398
(0.191)

0.382
(0.039)

0.0015
(0.0001)

-0.009
(0.001)

Standard Errors in Parentheses

Pension Health Parking Tuition
0.480 1.468 -0.809 0.597
(0.139) (0.147) (0.132) (0.137)

-0.119 -0.354 -0.036 -0.256
(0.065) (0.070) (0.060) (0.063)
0.326 0.539 0.065 0.354

(0.052) (0.060) (0.046) (0.050)
0.014 -0.027 0.022 -0.020
(0.005) (0.005) (0.005) (0.005)
-0.0002 0.0002 -0.0002 0.0001
(0.0001) (0.0001) (0.0001) (0.0001)
-0.032 -0.050 -0.016 -0.051
(0.006) (0.006) (0.005) (0.005)
0.0007 0.0012 0.0002 0.0010
(0.0001) (0.0001) (0.0001) (0.0001)
0.108 0.050 0.020 0.068
(0.007) (0.007) (0.006) (0.006)
-0.0021 -0.0008 -0.0001 -0.0012
(0.0002) (0.0002) (0.0002) (0.0002)
0.059 0.152 0.028 0.171
(0.022) (0.022) (0.021) (0.021)
0.119 0.176 0.012 0.124
(0.021) (0.021) (0.019) (0.020)
0.362 0.423 -0.023 0.220
(0.045) (0.047) (0.041) (0.042)
0.099 0.097 0.073 0.125
(0.009) (0.009) (0.008) (0.008)
-0.0002 -0.0002 0.00020 0.00004
(0.0001) (0.0001) (0.00002)  (0.00002)
0.0005 0.0015 -0.0007 -0.0003

(0.0001) (0.0001) (0.0001) (0.0001)

Daycare
-1.192
(0.205)

0.034
(0.093)

0.200
(0.063)

-0.030
(0.008)

0.0002
(0.0001)

-0.012
(0.008)

0.0002
(0.0002)

0.040
(0.009)

-0.0006
(0.0003)

0.019
(0.031)

0.059
(0.029)

0.175
(0.059)

0.099
(0.013)

000020
(000004

0.0014
(0.0002)



TABLE A2
Results of Reduced-Form Probit Equation (3),
Whether a Nurse Works
For an Agency or Not

Dependent Variable: TNS --- Work for Agency/Work for Non-Agency
Number of Observations: 33,810
Standard Errors in Parentheses

Constant -1.748 Tenure -0.097
(0.191) (0.005)
Children 0-2 0.067 Tenure Squared 0.0023
(0.031) A (0.0002)
Children 3-5 0.060 . Associate 0.063
(0.027) gk - (0.034)
Children 6-18 0.004 Bachelor’s -0.094
(0.013) (0.031)
Married -0.006 Master’s -0.287
(0.033) o = (0.066)
Spousal Income -0.011 Use Skill -0.018
(0.005) (0.014)
White -0.433 Hospitals -0.302
(0.037) (0.127)
Female 0.154 ' Hospital Beds -0.020
(0.070) S (0.007)
Age 0.020 Population Density  0.0006
(0.008) (0.0004)
Age Squared -0.0001 Social Security -0.0002
(0.0001) Beneficiary Density (0.0002)
Experience -0.018
(0.005)

Experience Squared 0.0004
(0.0001)



